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The CLR makes the SGR and DGR operate by the current and it
restrains the 3rd harmonic voltage in phase to phase voltage of
open delta circuit. it needs to restrain the abnormal reposition of
neutral point and unstable phenomena at neutral.

190V 25Q at 6.6kV  Limit time 1 min.
110V 8Q at6.6kV Limit time 1 min.
190V 50Q at 3.3kV  Limit time 1 min.
110V 16Q at 3.3kV  Limit time 1 min.

* The equation of the resistor for current limiting.
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* The equation for the Zero phase Current.
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* The equation for the Zero phase Voltage.
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ex) If the resistive current is 380mA at 6.6kV, 190V
9 6600 9
X

E
R= — X = =25(Q)
V3 lgx n? V3 0.38x 602
If the resistive current is 380mA at 6.6kV, 110V
R E 3 6600 9 8(0)
= — X = X =
V3 lgx n? V3 0.38x 1042
Vo : Zero Phase Voltage
lg : Grounding fault Current
R Limit Resistor
n : Turn ratio of EVT
* The above refer to KSCP-C-1008, page 434
(unit - mm)
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